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1. ZILH)ERDEEY (TFX kp. 110)

2. LIORENE (7FX bp. 110)

3. ZILAVERDRIESDIEFE

4. 9530 IT—TJ)L (TFRX kp. 168-169)
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Li,O Na,O, KO,
TNAY R Li Na K
AapH GEFETZ N1 E—) | 148 kJ/mol | 99 kd/mol | 79 kJ/mol
A F bR F— 520 kJ/mol | 496 kJ/mol | 419 kJ/mol
M* DA 7 48 76 pm 102 pm 138 pm
WFFVIBBIDICRELRIRILY —
FEsRA A 0% 0> O,
AH (Epk— %1 —) | 904 kd/mol | 553 kdJ/mol | —43 kJ/mol
A F R 140 pm 173 pm 158 pm
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energy
Energy required for the fnrmatinlmf Lattice AH

Product | metal ions | oxygenions | total energy | (reaction) &?fﬁg%ﬁ“
Li-O 1336 904 2240 | -2972 -732
Li-Oz 1336 553 1889 | -2578 —689
2 LiO2 1336 —86 1250 | —1829 -579
MNa:O 1190 904 2094 | -2653 —-559
Na:0: 1190 553 1743 | 2335 -592
2 NaO: 1190 —86 1104 | —1646 -542
K20 996 904 1900 | —2309 —409
K202 996 553 1549 | 2064 -515
2 KO2 996 —86 910 | —-1446 -536
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